HVARRIE, oy /v RO RER

v hNO TECCAS ¥mg 79— =97 ORG

Linalyle acetate VFINT 27—k 73.000%
Linalool Jto—n 17.700%
3 —Caryophyllene B=AT4V 2.600%
a —Terpineol a —TIVE XA =)V 1.200%
Geranyl acetate rIZNT TN 0.900%
3 —Pinene B -t %tV 0.700%
Geraniol VA= 0.400%
Germacrene D vIVYD 0.400%
Limonene JERY 0.400%
Neryl acetate RINTET—h 0.400%
Myrcene N2 0.300%
Cis B Ocimene VA= B AV AV 0.200%
Trans B8 ocimene NIV A= B =AYV AV 0.200%
a —Pinene i V4 0.200%
a —Copaene a—INTY 0.100%



HVARRIE, oy /v RO RER

v’ NO TECBIS ¥mg 79— =97 ORG

Linalyle acetate
Linalool

Nerol
Germacrene D

B —Caryophyllene
Geranyl acetate
o —Terpineol
Geraniol
Myrcene

Neryl acetate
Trans 8 ocimene
Cis B Ocimene
Terpinolene
Limonene

Sclareol oxide

UFINTET—h
Ja—L

$a—)V

VG A%%D,
B-=WIAT4V
FIZNTRT—h
o —TIVERF—V
rI=t—=n
N2
FINVT T —h
NIV A= B =AY A
VA= B-FY A
TIVE LY

VeV

AITVA—= AN

60.700%
19.900%
4.100%
3.000%
2.200%
1.300%
1.300%
1.200%
0.900%
0.900%
0.700%
0.600%
0.200%
0.100%
0.100%



HVARRIE, oy /v RO RER

v’ NO TECBHS ¥mg 79— =97 ORG

Linalyle acetate VFINT 27—k 69.200%
Linalool Jto—n 15.600%
Nerol -V 3.100%
Germacrene D vIVYD 2.030%
B —Caryophyllene B=AT4V 2.000%
a —Terpineol a —TIWVE XA =)V 1.900%
Geranyl acetate rI=NVT TN 1.300%
Geraniol V= Y 1.100%
Myrcene N2 0.800%
Neryl acetate RINVT 2T~ 0.800%
Trans B8 ocimene NIV A= B =AY AV 0.600%
Cis B Ocimene VA= B AV AV 0.400%
Limonene Ve 0.200%
Sclareol oxide AITVE=N ¥V 0.200%
Terpinolene FIVE VY 0.200%



HVARRIE, oy /v RO RER

7hNO  TECBES ¥m4  77)—t—v" A—=yJ ORG
Linalyle acetate VFINT 27—k 50.200%
Linalool Jto—n 26.200%
o —Terpineol a —TIVE A=) 4.200%
Geranyl acetate VTR T =] 3.400%
Germacrene D rVvRIVYD 3.200%
B —Caryophyllene B-WA74v 1.800%
B —Myrcene B3Ity 1.800%
Trans 8 ocimene Sl e 1.200%
Limonene JERY 0.500%

Terpinolene VaIAWA%R 0.400%



